
ldltM 2071.5.4

o; sfofnosf] cf=j=2070.71 sf] 2071 >fj)f dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00    -          
1=1=1 dfnkf]t tyf e'lds/ 20,000.00      -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          
1=1=3 jxfns/ 50,000.00      19,736.00       1=1=3 sd{rf/L sNof)f sf]if 510,000.00      -          
1=1=5 Jojzfos/ 1,200,000.00    94,025.00      1=1=4 jLdf lk|ldod vr{ 100,000.00      -          
1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00      -           1=2=1 sd{rf/L eQf 400,000.00     -          
1=1=6=2 k^s] ;jf/Ls/ 10,000.00      -           1=2=3 j}&s eQf 200,000.00      -          
1=1=7 ;Dklts/ 1,800,000.00    187,186.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          
1=1=8 dgf]/Ghgs/ 4,000.00       -           1=4 kf]zfs 250,000.00      -          
1=1=9 lj!fkgs/ 50,000.00      -           1=5 vfBfGg tyf cfxf/ 30,000.00       -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00      9,438.00       1=6 cf}iflw pkrf/ 200,000.00      -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -           1=2=9 tfnLd sfo{qmd vr{ -           -          
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      -          
1=3=2 gS;fkf; b:t"/ 1,800,000.00    111,526.00      2=2 ;Grf/ dxz'n 150,000.00      -          
1=3=3 l;kmfl/; b:t"/ 700,000.00     57,234.00       2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      -          
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      2,600.00       2=5 dd{t ;+Def/ 200,000.00      -          
1=3=5 cGo b:t"/ 25,000.00      -           2=6 O{Gwg 250,000.00      -          
1=4=3 cGo ljqmL 150,000.00     5,000.00       2=6=3 cGo O{Gwg 10,000.00       -          
1=5=1 ;fj{hlgs lghL ;fem]bf/L -           98,239.00       2=8=1 ;b:otf z"Ns 50,000.00       -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      400.00        2=8=2 cfly{s ;xfotf 10,000.00       -          
1=7=1 b)* hl/jfgf 5,000.00       2,000.00       2=8=3 k"/:sf/ 15,000.00       -          
1=7=2 ef*f tyf jxfnjf^ cfo 475,000.00     28,500.00      2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          
1=7=3 w/f}^L hkm^ 10,000.00      -           2=8=5 ljljw vr{ 200,000.00      -          
1=7=5 k]ZsL lkmtf{ 10,000.00      -           3=4 ;fdflhs ;"/Iff cg"bfg 9,330,000.00     -          
1=7=6 cGo ljljw cfo 100,000.00     61,310.00       4=3 k":ts tyf ;fdu|L 10,000.00       -          

hDdf M 6,575,000.00    677,194.00      4=4 sfo{qmd vr{ 1,274,000.00     -          
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -           -          
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      -          
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,200,000.00    -           4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 800,000.00     -          
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 17,580,000.00   -           4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00     -          
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -           4=9 ;*saQL ;DaGwL vr{ 100,000.00      -          

/lhi^«]zg b:t"/ 4,000,000.00    -           9=1 e}k/L cfpg] vr{ 10,000.00       -          
1=10 cGo cg"bfg 9,300,000.00    -           11=2 jfXoC)fsf] Jofh e"QmfgL -           -          
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00       -          
1=13=2 nfut ;xeflutf 25,500,000.00   -           hDdf M 23,739,000.00    -          
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 694,000.00     10,992,174.18    u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
1=23 gub -           6=1 kmlg{r/ 20,000.00       -          

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          
hDdf M 68,274,000.00   10,992,174.18    6=5                        50,700,000.00    -          

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          
9=2 e}k/L cfpg] vr{ 270,000.00      -          

hDdf M 51,110,000.00    -          
74,849,000.00   11,669,368.18    74,849,000.00   -          

s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M



ldltM 2071.6.2

o; sfofnosf] cf=j=2070.71 sf] 2071 >fj)f dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00    1,010,900.00    
1=1=1 dfnkf]t tyf e'lds/ 20,000.00      -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          
1=1=3 jxfns/ 50,000.00      33,646.00       1=1=3 sd{rf/L sNof)f sf]if 510,000.00      -          
1=1=5 Jojzfos/ 1,200,000.00    177,600.00      1=1=4 jLdf lk|ldod vr{ 100,000.00      6,400.00       
1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00      -           1=2=1 sd{rf/L eQf 400,000.00     78,000.00      
1=1=6=2 k^s] ;jf/Ls/ 10,000.00      -           1=2=3 j}&s eQf 200,000.00      -          
1=1=7 ;Dklts/ 1,800,000.00    355,418.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          
1=1=8 dgf]/Ghgs/ 4,000.00       -           1=4 kf]zfs 250,000.00      -          
1=1=9 lj!fkgs/ 50,000.00      -           1=5 vfBfGg tyf cfxf/ 30,000.00       -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00      9,438.00       1=6 cf}iflw pkrf/ 200,000.00      -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -           1=2=9 tfnLd sfo{qmd vr{ -           -          
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      -          
1=3=2 gS;fkf; b:t"/ 1,800,000.00    203,303.00      2=2 ;Grf/ dxz'n 150,000.00      -          
1=3=3 l;kmfl/; b:t"/ 700,000.00     119,934.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      -          
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      5,400.00       2=5 dd{t ;+Def/ 200,000.00      -          
1=3=5 cGo b:t"/ 25,000.00      500.00        2=6 O{Gwg 250,000.00      -          
1=4=3 cGo ljqmL 150,000.00     9,500.00       2=6=3 cGo O{Gwg 10,000.00       -          
1=5=1 ;fj{hlgs lghL ;fem]bf/L -           196,478.00      2=8=1 ;b:otf z"Ns 50,000.00       -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      2,000.00       2=8=2 cfly{s ;xfotf 10,000.00       -          
1=7=1 b)* hl/jfgf 5,000.00       4,000.00       2=8=3 k"/:sf/ 15,000.00       -          
1=7=2 ef*f tyf jxfnjf^ cfo 475,000.00     57,000.00      2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          
1=7=3 w/f}^L hkm^ 10,000.00      -           2=8=5 ljljw vr{ 200,000.00      -          
1=7=5 k]ZsL lkmtf{ 10,000.00      -           3=4 ;fdflhs ;"/Iff cg"bfg 9,330,000.00     -          
1=7=6 cGo ljljw cfo 100,000.00     61,310.00       4=3 k":ts tyf ;fdu|L 10,000.00       -          

hDdf M 6,575,000.00    1,235,527.00     4=4 sfo{qmd vr{ 1,274,000.00     -          
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -           -          
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      -          
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,200,000.00    -           4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 800,000.00     380,805.80     
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 17,580,000.00   2,050,000.00    4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00     179,114.00     
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -           4=9 ;*saQL ;DaGwL vr{ 100,000.00      67,386.00      

/lhi^«]zg b:t"/ 4,000,000.00    -           9=1 e}k/L cfpg] vr{ 10,000.00       -          
1=10 cGo cg"bfg 9,300,000.00    -           11=2 jfXoC)fsf] Jofh e"QmfgL -           -          
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00       -          
1=13=2 nfut ;xeflutf 25,500,000.00   -           hDdf M 23,739,000.00    1,722,605.80    
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 694,000.00     10,992,174.18    u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
1=23 gub -           6=1 kmlg{r/ 20,000.00       -          

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          
hDdf M 68,274,000.00   13,042,174.18    6=5 ;fj{hlgs lgdf{)f 50,700,000.00    -          

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          
9=2 e}k/L cfpg] vr{ 270,000.00      -          

hDdf M 51,110,000.00    -          
74,849,000.00   14,277,701.18    74,849,000.00   1,722,605.80    

s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljb'/ gu/kflnsf sfof{no

jh]^ cg";f/
o; dlxgf ;Ddsf] 

vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f



ldltM 2071.7.3

o; sfofnosf] cf=j=2070.71 sf] 2071 c;f]h dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00    2,240,522.00    
1=1=1 dfnkf]t tyf e'lds/ 20,000.00      -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          
1=1=3 jxfns/ 50,000.00      36,406.00       1=1=3 sd{rf/L sNof)f sf]if 510,000.00      -          
1=1=5 Jojzfos/ 1,200,000.00    219,650.00      1=1=4 jLdf lk|ldod vr{ 100,000.00      9,600.00       
1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00      -           1=2=1 sd{rf/L eQf 400,000.00     117,000.00     
1=1=6=2 k^s] ;jf/Ls/ 10,000.00      -           1=2=3 j}&s eQf 200,000.00      -          
1=1=7 ;Dklts/ 1,800,000.00    497,683.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          
1=1=8 dgf]/Ghgs/ 4,000.00       -           1=4 kf]zfs 250,000.00      -          
1=1=9 lj!fkgs/ 50,000.00      -           1=5 vfBfGg tyf cfxf/ 30,000.00       -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00      16,308.00       1=6 cf}iflw pkrf/ 200,000.00      -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -           1=2=9 tfnLd sfo{qmd vr{ -           -          
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      -          
1=3=2 gS;fkf; b:t"/ 1,800,000.00    264,379.00      2=2 ;Grf/ dxz'n 150,000.00      -          
1=3=3 l;kmfl/; b:t"/ 700,000.00     171,943.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      -          
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      10,200.00       2=5 dd{t ;+Def/ 200,000.00      -          
1=3=5 cGo b:t"/ 25,000.00      520.00         2=6 O{Gwg 250,000.00      -          
1=4=3 cGo ljqmL 150,000.00     12,000.00       2=6=3 cGo O{Gwg 10,000.00       -          
1=5=1 ;fj{hlgs lghL ;fem]bf/L -           294,717.00      2=8=1 ;b:otf z"Ns 50,000.00       -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      2,400.00       2=8=2 cfly{s ;xfotf 10,000.00       -          
1=7=1 b)* hl/jfgf 5,000.00       4,000.00       2=8=3 k"/:sf/ 15,000.00       -          
1=7=2 ef*f tyf jxfnjf^ cfo 475,000.00     85,500.00      2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          
1=7=3 w/f}^L hkm^ 10,000.00      -           2=8=5 ljljw vr{ 200,000.00      24,790.00      
1=7=5 k]ZsL lkmtf{ 10,000.00      -           3=4 ;fdflhs ;"/Iff cg"bfg 9,330,000.00     3,246,000.00    
1=7=6 cGo ljljw cfo 100,000.00     61,310.00       4=3 k":ts tyf ;fdu|L 10,000.00       -          

hDdf M 6,575,000.00    1,677,016.00     4=4 sfo{qmd vr{ 1,274,000.00     14,460.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -           -          
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      -          
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,200,000.00    350,000.00      4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 800,000.00     661,541.28      
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 17,580,000.00   2,050,000.00    4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00     268,671.00     
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -           4=9 ;*saQL ;DaGwL vr{ 100,000.00      101,079.00     

/lhi^«]zg b:t"/ 4,000,000.00    -           9=1 e}k/L cfpg] vr{ 10,000.00       -          
1=10 cGo cg"bfg 9,300,000.00    -           11=2 jfXoC)fsf] Jofh e"QmfgL -           -          
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00       -          
1=13=2 nfut ;xeflutf 25,500,000.00   -           hDdf M 23,739,000.00    6,683,663.28     
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 694,000.00     10,992,174.18    u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
1=23 gub -           6=1 kmlg{r/ 20,000.00       -          

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          
hDdf M 68,274,000.00   13,392,174.18    6=5 ;fj{hlgs lgdf{)f 50,700,000.00    247,500.00     

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          
9=2 e}k/L cfpg] vr{ 270,000.00      -          

hDdf M 51,110,000.00    247,500.00     
74,849,000.00   15,069,190.18    74,849,000.00   6,931,163.28     

s]zaaxfb"/ >]i&

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
vr{



n]vf clws[t sfo{sf/L clws[t

ldltM 2071.8.3

o; sfofnosf] cf=j=2070.71 sf] 2071 sflt{s dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00    2,257,502.00    
1=1=1 dfnkf]t tyf e'lds/ 20,000.00      -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          
1=1=3 jxfns/ 50,000.00      36,406.00       1=1=3 sd{rf/L sNof)f sf]if 510,000.00      -          
1=1=5 Jojzfos/ 1,200,000.00    237,730.00      1=1=4 jLdf lk|ldod vr{ 100,000.00      9,600.00       
1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00      -           1=2=1 sd{rf/L eQf 400,000.00     117,000.00     
1=1=6=2 k^s] ;jf/Ls/ 10,000.00      -           1=2=3 j}&s eQf 200,000.00      -          
1=1=7 ;Dklts/ 1,800,000.00    686,361.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          
1=1=8 dgf]/Ghgs/ 4,000.00       -           1=4 kf]zfs 250,000.00      -          
1=1=9 lj!fkgs/ 50,000.00      -           1=5 vfBfGg tyf cfxf/ 30,000.00       -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00      16,308.00       1=6 cf}iflw pkrf/ 200,000.00      -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -           1=2=9 tfnLd sfo{qmd vr{ -           -          
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      6,560.19       
1=3=2 gS;fkf; b:t"/ 1,800,000.00    454,138.00      2=2 ;Grf/ dxz'n 150,000.00      30,839.50      
1=3=3 l;kmfl/; b:t"/ 700,000.00     365,148.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      5,200.00       
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      18,800.00      2=5 dd{t ;+Def/ 200,000.00      -          
1=3=5 cGo b:t"/ 25,000.00      520.00         2=6 O{Gwg 250,000.00      -          
1=4=3 cGo ljqmL 150,000.00     19,000.00      2=6=3 cGo O{Gwg 10,000.00       1,550.00       
1=5=1 ;fj{hlgs lghL ;fem]bf/L -           294,717.00      2=8=1 ;b:otf z"Ns 50,000.00       -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      2,400.00       2=8=2 cfly{s ;xfotf 10,000.00       -          
1=7=1 b)* hl/jfgf 5,000.00       6,000.00       2=8=3 k"/:sf/ 15,000.00       -          
1=7=2 ef*f tyf jxfnjf^ cfo 475,000.00     114,000.00      2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          
1=7=3 w/f}^L hkm^ 10,000.00      -           2=8=5 ljljw vr{ 200,000.00      34,980.00      
1=7=5 k]ZsL lkmtf{ 10,000.00      -           3=4 ;fdflhs ;"/Iff cg"bfg 9,330,000.00     3,246,000.00    
1=7=6 cGo ljljw cfo 100,000.00     61,310.00       4=3 k":ts tyf ;fdu|L 10,000.00       -          

hDdf M 6,575,000.00    2,312,838.00     4=4 sfo{qmd vr{ 1,274,000.00     14,460.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -           -          
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      -          
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,200,000.00    350,000.00      4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 800,000.00     772,391.28      
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 17,580,000.00   2,050,000.00    4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00     281,651.00     
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -           4=9 ;*saQL ;DaGwL vr{ 100,000.00      101,079.00     

/lhi^«]zg b:t"/ 4,000,000.00    -           9=1 e}k/L cfpg] vr{ 10,000.00       -          
1=10 cGo cg"bfg 9,300,000.00    -           11=2 jfXoC)fsf] Jofh e"QmfgL -           -          
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00       -          
1=13=2 nfut ;xeflutf 25,500,000.00   -           hDdf M 23,739,000.00    6,878,812.97    
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 694,000.00     10,992,174.18    u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
1=23 gub -           6=1 kmlg{r/ 20,000.00       -          

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          
hDdf M 68,274,000.00   13,392,174.18    6=5 ;fj{hlgs lgdf{)f 50,700,000.00    247,500.00     

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          
9=2 e}k/L cfpg] vr{ 270,000.00      -          

hDdf M 51,110,000.00    247,500.00     
74,849,000.00   15,705,012.18    74,849,000.00   7,126,312.97     

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f o; dlxgf ;Ddsf] 
vr{

jh]^ cg";f/

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M



s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ldltM 2071.9.2

o; sfofnosf] cf=j=2070.71 sf] 2071 d+l;/ dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00    3,247,504.00    
1=1=1 dfnkf]t tyf e'lds/ 20,000.00      -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          
1=1=3 jxfns/ 50,000.00      47,326.00       1=1=3 sd{rf/L sNof)f sf]if 510,000.00      -          
1=1=5 Jojzfos/ 1,200,000.00    269,830.00      1=1=4 jLdf lk|ldod vr{ 100,000.00      15,600.00      
1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00      -           1=2=1 sd{rf/L eQf 400,000.00     193,000.00     
1=1=6=2 k^s] ;jf/Ls/ 10,000.00      -           1=2=3 j}&s eQf 200,000.00      -          
1=1=7 ;Dklts/ 1,800,000.00    845,771.00      1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          
1=1=8 dgf]/Ghgs/ 4,000.00       -           1=4 kf]zfs 250,000.00      -          
1=1=9 lj!fkgs/ 50,000.00      -           1=5 vfBfGg tyf cfxf/ 30,000.00       -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00      28,798.00      1=6 cf}iflw pkrf/ 200,000.00      -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -           1=2=9 tfnLd sfo{qmd vr{ -           -          
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      19,833.58      
1=3=2 gS;fkf; b:t"/ 1,800,000.00    620,745.00      2=2 ;Grf/ dxz'n 150,000.00      48,402.99      
1=3=3 l;kmfl/; b:t"/ 700,000.00     477,971.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      35,345.00      
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      29,500.00       2=5 dd{t ;+Def/ 200,000.00      -          
1=3=5 cGo b:t"/ 25,000.00      520.00         2=6 O{Gwg 250,000.00      113,702.74      
1=4=3 cGo ljqmL 150,000.00     26,500.00       2=6=3 cGo O{Gwg 10,000.00       1,550.00       
1=5=1 ;fj{hlgs lghL ;fem]bf/L -           294,717.00      2=8=1 ;b:otf z"Ns 50,000.00       -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      2,400.00       2=8=2 cfly{s ;xfotf 10,000.00       -          
1=7=1 b)* hl/jfgf 5,000.00       6,000.00       2=8=3 k"/:sf/ 15,000.00       -          
1=7=2 ef*f tyf jxfnjf^ cfo 475,000.00     142,500.00      2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          
1=7=3 w/f}^L hkm^ 10,000.00      -           2=8=5 ljljw vr{ 200,000.00      72,610.00      
1=7=5 k]ZsL lkmtf{ 10,000.00      -           3=4 ;fdflhs ;"/Iff cg"bfg 9,330,000.00     3,246,000.00    
1=7=6 cGo ljljw cfo 100,000.00     61,310.00       4=3 k":ts tyf ;fdu|L 10,000.00       -          

hDdf M 6,575,000.00    2,853,888.00    4=4 sfo{qmd vr{ 1,274,000.00     14,460.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -           -          
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      8,290.00       
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,200,000.00    5,137,000.00     4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 800,000.00     1,368,238.37     
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 17,580,000.00   9,753,000.00     4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00     500,499.97     
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -           4=9 ;*saQL ;DaGwL vr{ 100,000.00      168,465.00     

/lhi^«]zg b:t"/ 4,000,000.00    1,800,000.00    9=1 e}k/L cfpg] vr{ 10,000.00       -          
1=10 cGo cg"bfg 9,300,000.00    -           11=2 jfXoC)fsf] Jofh e"QmfgL -           -          
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00       -          
1=13=2 nfut ;xeflutf 25,500,000.00   157,730.00      hDdf M 23,739,000.00    9,053,501.65    
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 694,000.00     10,992,174.18    u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
1=23 gub -           6=1 kmlg{r/ 20,000.00       -          

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          
hDdf M 68,274,000.00   27,839,904.18    6=5 ;fj{hlgs lgdf{)f 50,700,000.00    343,420.00     

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          
9=2 e}k/L cfpg] vr{ 270,000.00      -          

hDdf M 51,110,000.00    343,420.00     
74,849,000.00   30,693,792.18    74,849,000.00   9,396,921.65     

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f o; dlxgf ;Ddsf] 
vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

jh]^ cg";f/
o; dlxgf ;Ddsf] 

cfDbfgL
ljj/)f

jh]^ cg";f/



s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ldltM 2071.10.5

o; sfofnosf] cf=j=2010.072 sf] 2071 kf}if dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,000,000.00    3,754,132.00    
1=1=1 dfnkf]t tyf e'lds/ 20,000.00      -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          
1=1=3 jxfns/ 50,000.00      50,430.00      1=1=3 sd{rf/L sNof)f sf]if 510,000.00      -          
1=1=5 Jojzfos/ 1,200,000.00    294,180.00      1=1=4 jLdf lk|ldod vr{ 100,000.00      18,600.00      
1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00      -           1=2=1 sd{rf/L eQf 400,000.00     231,000.00     
1=1=6=2 k^s] ;jf/Ls/ 10,000.00      -           1=2=3 j}&s eQf 200,000.00      -          
1=1=7 ;Dklts/ 1,800,000.00    1,028,744.00    1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          
1=1=8 dgf]/Ghgs/ 4,000.00       -           1=4 kf]zfs 250,000.00      -          
1=1=9 lj!fkgs/ 50,000.00      -           1=5 vfBfGg tyf cfxf/ 30,000.00       -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 50,000.00      28,798.00      1=6 cf}iflw pkrf/ 200,000.00      -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -           1=2=9 tfnLd sfo{qmd vr{ -           -          
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      26,820.58      
1=3=2 gS;fkf; b:t"/ 1,800,000.00    905,073.00      2=2 ;Grf/ dxz'n 150,000.00      55,088.36      
1=3=3 l;kmfl/; b:t"/ 700,000.00     569,891.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      173,785.80     
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      33,500.00       2=5 dd{t ;+Def/ 200,000.00      28,525.00      
1=3=5 cGo b:t"/ 25,000.00      520.00         2=6 O{Gwg 250,000.00      113,702.74      
1=4=3 cGo ljqmL 150,000.00     36,300.00       2=6=3 cGo O{Gwg 10,000.00       3,100.00       
1=5=1 ;fj{hlgs lghL ;fem]bf/L -           294,717.00      2=8=1 ;b:otf z"Ns 50,000.00       -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      2,800.00       2=8=2 cfly{s ;xfotf 10,000.00       -          
1=7=1 b)* hl/jfgf 5,000.00       6,500.00       2=8=3 k"/:sf/ 15,000.00       -          
1=7=2 ef*f tyf jxfnjf^ cfo 475,000.00     171,000.00      2=8=4 kl/ifb ;Grfng vr{ 100,000.00      28,220.00      
1=7=3 w/f}^L hkm^ 10,000.00      -           2=8=5 ljljw vr{ 200,000.00      72,610.00      
1=7=5 k]ZsL lkmtf{ 10,000.00      -           3=4 ;fdflhs ;"/Iff cg"bfg 9,330,000.00     3,246,000.00    
1=7=6 cGo ljljw cfo 100,000.00     61,310.00       4=3 k":ts tyf ;fdu|L 10,000.00       1,000.00       

hDdf M 6,575,000.00    3,483,763.00     4=4 sfo{qmd vr{ 1,274,000.00     14,460.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -           -          
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      8,290.00       
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 9,200,000.00    5,137,000.00     4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 800,000.00     191,517.64      
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 17,580,000.00   9,753,000.00     4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,500,000.00     590,782.97     
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -           4=9 ;*saQL ;DaGwL vr{ 100,000.00      33,935.00      

/lhi^«]zg b:t"/ 4,000,000.00    1,800,000.00    9=1 e}k/L cfpg] vr{ 10,000.00       -          
1=10 cGo cg"bfg 9,300,000.00    -           11=2 jfXoC)fsf] Jofh e"QmfgL -           -          
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00       -          
1=13=2 nfut ;xeflutf 25,500,000.00   157,730.00      hDdf M 23,739,000.00    8,591,570.09    
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 694,000.00     10,992,174.18    u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
1=23 gub -           6=1 kmlg{r/ 20,000.00       -          

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          
hDdf M 68,274,000.00   27,839,904.18    6=5 ;fj{hlgs lgdf{)f 50,700,000.00    2,234,425.57    

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          
9=2 e}k/L cfpg] vr{ 270,000.00      -          

hDdf M 51,110,000.00    2,234,425.57    
74,849,000.00   31,323,667.18     74,849,000.00   10,825,995.66   

jh]^ cg";f/
o; dlxgf ;Ddsf] 

vr{

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M



s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ldltM 2071.11.3

o; sfofnosf] cf=j=2010.072 sf] 2071 df# dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

;+s]t g+= zLif{s ;+s]t g+= zLif{s
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,622,000.00     4,261,035.00    
1=1=1 dfnkf]t tyf e'lds/ 2,000.00       -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          
1=1=3 jxfns/ 100,000.00     51,270.00       1=1=3 sd{rf/L sNof)f sf]if 550,000.00      -          
1=1=5 Jojzfos/ 1,200,000.00    319,080.00      1=1=4 jLdf lk|ldod vr{ 90,000.00       21,600.00      
1=1=6=1 ;jf/L tyf jflif{s/ 5,000.00       -           1=2=1 sd{rf/L eQf 500,000.00      269,000.00     
1=1=6=2 k^s] ;jf/Ls/ 5,000.00       -           1=2=3 j}&s eQf 200,000.00      29,500.00      
1=1=7 ;Dklts/ 1,700,000.00    1,200,044.00    1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          
1=1=8 dgf]/Ghgs/ 3,000.00       -           1=4 kf]zfs 300,000.00      -          
1=1=9 lj!fkgs/ 5,000.00       -           1=5 vfBfGg tyf cfxf/ 40,000.00      -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 10,000.00      50,840.00      1=6 cf}iflw pkrf/ 250,000.00      -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -           1=2=9 tfnLd sfo{qmd vr{ -           -          
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      32,342.58      
1=3=2 gS;fkf; b:t"/ 2,000,000.00    1,312,466.00     2=2 ;Grf/ dxz'n 150,000.00      61,173.36       
1=3=3 l;kmfl/; b:t"/ 800,000.00     669,419.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      221,879.80     
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      37,600.00       2=5 dd{t ;+Def/ 200,000.00      102,853.72      
1=3=5 cGo b:t"/ 25,000.00      520.00         2=6 O{Gwg 300,000.00      195,005.55     
1=4=3 cGo ljqmL 100,000.00     55,775.00       2=6=3 cGo O{Gwg 10,000.00       3,100.00       
1=5=1 ;fj{hlgs lghL ;fem]bf/L 600,000.00     393,017.00      2=8=1 ;b:otf z"Ns 50,000.00       -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      3,600.00        2=8=2 cfly{s ;xfotf 10,000.00       -          
1=7=1 b)* hl/jfgf 5,000.00       6,500.00       2=8=3 k"/:sf/ 15,000.00       -          
1=7=2 ef*f tyf jxfnjf^ cfo 507,000.00     199,500.00      2=8=4 kl/ifb ;Grfng vr{ 100,000.00      64,225.00      
1=7=3 w/f}^L hkm^ 10,000.00      -           2=8=5 ljljw vr{ 200,000.00      95,955.00      
1=7=5 k]ZsL lkmtf{ 10,000.00      -           3=4 ;fdflhs ;"/Iff cg"bfg 9,300,000.00     3,246,000.00    
1=7=6 cGo ljljw cfo 100,000.00     61,310.00       4=3 k":ts tyf ;fdu|L 10,000.00       1,000.00       

hDdf M 7,293,000.00    4,360,941.00     4=4 sfo{qmd vr{ 3,440,100.00     67,260.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=5=1 sfo{qmd e|d)f vr{ kbflwsf/L -           -          
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      8,290.00       
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 11,460,100.00   6,960,500.00     4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,378,000.00     535,946.34     
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 14,653,000.00   9,753,000.00     4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,590,000.00     681,065.97     
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -           4=9 ;*saQL ;DaGwL vr{ 100,000.00      67,870.00      

/lhi^«]zg b:t"/ 4,000,000.00    1,800,000.00    9=1 e}k/L cfpg] vr{ 10,000.00       -          
1=10 cGo cg"bfg 9,300,000.00    -           11=2 jfXoC)fsf] Jofh e"QmfgL -           -          
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 12 lkmtf{ vr{ 10,000.00       -          
1=13=2 nfut ;xeflutf 42,500,000.00   157,730.00      hDdf M 27,455,100.00    9,965,102.32     
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,762,000.00    10,992,174.18    u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
1=23 gub -           6=1 kmlg{r/ 20,000.00       -          

6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          
hDdf M 85,675,100.00   29,663,404.18    6=5 ;fj{hlgs lgdf{)f 65,173,000.00    4,466,425.57    

6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          
9=2 e}k/L cfpg] vr{ 200,000.00      -          

hDdf M 65,513,000.00    4,466,425.57    

jh]^ cg";f/
o; dlxgf ;Ddsf] 

vr{
jh]^ cg";f/

ljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f



92,968,100.00   34,024,345.18    92,968,100.00    14,431,527.89   

s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ldltM 2071÷12÷2

o; sfofnosf] cf=j=2010.072 sf] 2071 kmfNu")f dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

o; dlxgfsf] o; dlxgfsf]
;+s]t g+= zLif{s cfDbfgL ?= ;+s]t g+= zLif{s vr{ ?=
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,622,000.00     524,915.00     4,785,950.00    
1=1=1 dfnkf]t tyf e'lds/ 2,000.00       -          -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          -          
1=1=3 jxfns/ 100,000.00     1,240.00      52,510.00       1=1=3 sd{rf/L sNof)f sf]if 550,000.00      -          -          
1=1=5 Jojzfos/ 1,200,000.00    24,200.00     343,280.00      1=1=4 jLdf lk|ldod vr{ 90,000.00       3,000.00       24,600.00      
1=1=6=1 ;jf/L tyf jflif{s/ 5,000.00       -          -           1=2=1 sd{rf/L eQf 500,000.00      37,000.00      306,000.00     
1=1=6=2 k^s] ;jf/Ls/ 5,000.00       -          -           1=2=3 j}&s eQf 200,000.00      -          29,500.00      
1=1=7 ;Dklts/ 1,700,000.00    116,393.00     1,316,437.00     1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          -          
1=1=8 dgf]/Ghgs/ 3,000.00       -          -           1=4 kf]zfs 300,000.00      292,500.00     292,500.00     
1=1=9 lj!fkgs/ 5,000.00       -          -           1=5 vfBfGg tyf cfxf/ 40,000.00      -          -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 10,000.00      17,913.00      68,753.00       1=6 cf}iflw pkrf/ 250,000.00      -          -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      6,615.75       38,958.33      
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -          -           2=2 ;Grf/ dxz'n 150,000.00      6,126.76        67,300.12      
1=3=2 gS;fkf; b:t"/ 2,000,000.00    221,677.00     1,534,143.00     2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      59,176.60      281,056.40     
1=3=3 l;kmfl/; b:t"/ 800,000.00     72,499.00     741,918.00      2=5 dd{t ;+Def/ 200,000.00      -          102,853.72      
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      5,700.00      43,300.00       2=6 O{Gwg 300,000.00      -          195,005.55     
1=3=5 cGo b:t"/ 25,000.00      -          520.00         2=6=3 cGo O{Gwg 10,000.00       -          3,100.00       
1=4=3 cGo ljqmL 100,000.00     10,000.00     65,775.00       2=8=1 ;b:otf z"Ns 50,000.00       -          -          
1=5=1 ;fj{hlgs lghL ;fem]bf/L 600,000.00     98,300.00     491,317.00      2=8=2 cfly{s ;xfotf 10,000.00       -          -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      400.00       4,000.00       2=8=3 k"/:sf/ 15,000.00       -          -          
1=7=1 b)* hl/jfgf 5,000.00       3,000.00      9,500.00       2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          64,225.00      
1=7=2 ef*f tyf jxfnjf^ cfo 507,000.00     28,500.00     228,000.00      2=8=5 ljljw vr{ 200,000.00      24,730.00      120,685.00     
1=7=3 w/f}^L hkm^ 10,000.00      -          -           3=4 ;fdflhs ;"/Iff cg"bfg 9,300,000.00     -          3,246,000.00    
1=7=5 k]ZsL lkmtf{ 10,000.00      -          -           4=3 k":ts tyf ;fdu|L 10,000.00       -          1,000.00       
1=7=6 cGo ljljw cfo 100,000.00     -          61,310.00       4=4 sfo{qmd vr{ 3,440,100.00     -          67,260.00      

hDdf M 7,293,000.00    599,822.00    4,960,763.00     4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      14,665.00      22,955.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,378,000.00     250,452.01     786,398.35     
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,590,000.00     90,525.00      771,590.97     
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 11,460,100.00   -          6,960,500.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00      33,935.00      101,805.00     
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 14,653,000.00   -          9,753,000.00     9=1 e}k/L cfpg] vr{ 10,000.00       -          -          
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -          -           12 lkmtf{ vr{ 10,000.00       -          -          

/lhi^«]zg b:t"/ 4,000,000.00    -          1,800,000.00    hDdf M 27,455,100.00    1,343,641.12     11,308,743.44   
1=10 cGo cg"bfg 9,300,000.00    -          -           u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 6=1 kmlg{r/ 20,000.00       -          -          
1=13=2 nfut ;xeflutf 42,500,000.00   -          157,730.00      6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          -          
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,762,000.00    -          10,992,174.18    6=5 ;fj{hlgs lgdf{)f 65,173,000.00    435,000.00     4,901,425.57    
1=23 gub -           -          -           6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          -          

9=2 e}k/L cfpg] vr{ 200,000.00      -          -          
hDdf M 85,675,100.00   -          29,663,404.18    hDdf M 65,513,000.00    435,000.00     4,901,425.57    

92,968,100.00   599,822.00    34,624,167.18    92,968,100.00    1,778,641.12    16,210,169.01    

o; dlxgf ;Ddsf] 
vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{no

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f
jh]^ cg";f/



s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ldltM 2072÷01÷3

o; sfofnosf] cf=j=2071÷072 sf] 2071 r}q dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

o; dlxgfsf] o; dlxgfsf]
;+s]t g+= zLif{s cfDbfgL ?= ;+s]t g+= zLif{s vr{ ?=
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,622,000.00     508,399.00     5,294,349.00    
1=1=1 dfnkf]t tyf e'lds/ 2,000.00       -          -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          -          
1=1=3 jxfns/ 100,000.00     1,200.00      53,710.00       1=1=3 sd{rf/L sNof)f sf]if 550,000.00      -          -          
1=1=5 Jojzfos/ 1,200,000.00    12,200.00     355,480.00      1=1=4 jLdf lk|ldod vr{ 90,000.00       3,000.00       27,600.00      
1=1=6=1 ;jf/L tyf jflif{s/ 5,000.00       -          -           1=2=1 sd{rf/L eQf 500,000.00      37,000.00      343,000.00     
1=1=6=2 k^s] ;jf/Ls/ 5,000.00       -          -           1=2=3 j}&s eQf 200,000.00      -          29,500.00      
1=1=7 ;Dklts/ 1,700,000.00    151,016.00     1,467,453.00     1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          -          
1=1=8 dgf]/Ghgs/ 3,000.00       -          -           1=4 kf]zfs 300,000.00      -          292,500.00     
1=1=9 lj!fkgs/ 5,000.00       -          -           1=5 vfBfGg tyf cfxf/ 40,000.00      -          -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 10,000.00      5,494.00      74,247.00      1=6 cf}iflw pkrf/ 250,000.00      -          -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      5,502.81       44,461.14      
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -          -           2=2 ;Grf/ dxz'n 150,000.00      8,319.86       75,619.98      
1=3=2 gS;fkf; b:t"/ 2,000,000.00    212,576.00     1,746,719.00     2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      91,406.80      372,463.20      
1=3=3 l;kmfl/; b:t"/ 800,000.00     100,908.00    842,826.00      2=5 dd{t ;+Def/ 200,000.00      9,435.50       112,289.22      
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      5,200.00      48,500.00      2=6 O{Gwg 300,000.00      32,075.85      227,081.40     
1=3=5 cGo b:t"/ 25,000.00      -          520.00         2=6=3 cGo O{Gwg 10,000.00       1,550.00       4,650.00       
1=4=3 cGo ljqmL 100,000.00     9,500.00      75,275.00       2=8=1 ;b:otf z"Ns 50,000.00       -          -          
1=5=1 ;fj{hlgs lghL ;fem]bf/L 600,000.00     -          491,317.00      2=8=2 cfly{s ;xfotf 10,000.00       -          -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      800.00       4,800.00       2=8=3 k"/:sf/ 15,000.00       4,500.00       4,500.00       
1=7=1 b)* hl/jfgf 5,000.00       2,000.00      11,500.00       2=8=4 kl/ifb ;Grfng vr{ 100,000.00      8,200.00       72,425.00      
1=7=2 ef*f tyf jxfnjf^ cfo 507,000.00     193,500.00     421,500.00      2=8=5 ljljw vr{ 200,000.00      34,820.00      155,505.00     
1=7=3 w/f}^L hkm^ 10,000.00      -          -           3=4 ;fdflhs ;"/Iff cg"bfg 9,300,000.00     -          3,246,000.00    
1=7=5 k]ZsL lkmtf{ 10,000.00      -          -           4=3 k":ts tyf ;fdu|L 10,000.00       -          1,000.00       
1=7=6 cGo ljljw cfo 100,000.00     -          61,310.00       4=4 sfo{qmd vr{ 3,440,100.00     3,300.00       70,560.00      

hDdf M 7,293,000.00    694,394.00    5,655,157.00     4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      3,570.00       26,525.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,378,000.00     267,387.25      1,053,785.60    
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,590,000.00     157,110.00      928,700.97     
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 11,460,100.00   -          6,960,500.00     4=9 ;*saQL ;DaGwL vr{ 100,000.00      33,935.00      135,740.00     
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 14,653,000.00   -          9,753,000.00     9=1 e}k/L cfpg] vr{ 10,000.00       -          -          
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -          -           12 lkmtf{ vr{ 10,000.00       -          -          

/lhi^«]zg b:t"/ 4,000,000.00    1,648,149.21   3,448,149.21     hDdf M 27,455,100.00    1,209,512.07    12,518,255.51    
1=10 cGo cg"bfg 9,300,000.00    -          -           u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 6=1 kmlg{r/ 20,000.00       -          -          
1=13=2 nfut ;xeflutf 42,500,000.00   10,821,500.00  10,979,230.00    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          -          
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,762,000.00    -          10,992,174.18    6=5 ;fj{hlgs lgdf{)f 65,173,000.00    6,912,980.90    11,814,406.47   
1=23 gub -           -          -           6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          -          

9=2 e}k/L cfpg] vr{ 200,000.00      -          -          
hDdf M 85,675,100.00   12,469,649.21   42,133,053.39    hDdf M 65,513,000.00    6,912,980.90    11,814,406.47   

o; dlxgf ;Ddsf] 
vr{

ljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f
jh]^ cg";f/



92,968,100.00   13,164,043.21   47,788,210.39    92,968,100.00    8,122,492.97    24,332,661.98    

s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ldltM 2072÷02÷3

o; sfofnosf] cf=j=2071÷072 sf] 2072 j}zfv dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

o; dlxgfsf] o; dlxgfsf]
;+s]t g+= zLif{s cfDbfgL ?= ;+s]t g+= zLif{s vr{ ?=
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,622,000.00     508,399.00     5,802,748.00    
1=1=1 dfnkf]t tyf e'lds/ 2,000.00       -          -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          -          
1=1=3 jxfns/ 100,000.00     -          53,710.00       1=1=3 sd{rf/L sNof)f sf]if 550,000.00      -          -          
1=1=5 Jojzfos/ 1,200,000.00    3,800.00      359,280.00      1=1=4 jLdf lk|ldod vr{ 90,000.00       3,000.00       30,600.00      
1=1=6=1 ;jf/L tyf jflif{s/ 5,000.00       -          -           1=2=1 sd{rf/L eQf 500,000.00      37,000.00      380,000.00     
1=1=6=2 k^s] ;jf/Ls/ 5,000.00       -          -           1=2=3 j}&s eQf 200,000.00      -          29,500.00      
1=1=7 ;Dklts/ 1,700,000.00    54,010.00     1,521,463.00     1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          -          
1=1=8 dgf]/Ghgs/ 3,000.00       -          -           1=4 kf]zfs 300,000.00      -          292,500.00     
1=1=9 lj!fkgs/ 5,000.00       -          -           1=5 vfBfGg tyf cfxf/ 40,000.00      -          -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 10,000.00      -          74,247.00      1=6 cf}iflw pkrf/ 250,000.00      -          -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      7,374.91       51,836.05      
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -          -           2=2 ;Grf/ dxz'n 150,000.00      7,085.00       82,704.98      
1=3=2 gS;fkf; b:t"/ 2,000,000.00    57,782.00     1,804,501.00    2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      -          372,463.20      
1=3=3 l;kmfl/; b:t"/ 800,000.00     23,190.00      866,016.00      2=5 dd{t ;+Def/ 200,000.00      -          112,289.22      
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      700.00       49,200.00      2=6 O{Gwg 300,000.00      -          227,081.40     
1=3=5 cGo b:t"/ 25,000.00      -          520.00         2=6=3 cGo O{Gwg 10,000.00       -          4,650.00       
1=4=3 cGo ljqmL 100,000.00     3,000.00      78,275.00       2=8=1 ;b:otf z"Ns 50,000.00       -          -          
1=5=1 ;fj{hlgs lghL ;fem]bf/L 600,000.00     -          491,317.00      2=8=2 cfly{s ;xfotf 10,000.00       -          -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      -          4,800.00       2=8=3 k"/:sf/ 15,000.00       -          4,500.00       
1=7=1 b)* hl/jfgf 5,000.00       -          11,500.00       2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          72,425.00      
1=7=2 ef*f tyf jxfnjf^ cfo 507,000.00     -          421,500.00      2=8=5 ljljw vr{ 200,000.00      24,010.00      179,515.00     
1=7=3 w/f}^L hkm^ 10,000.00      -          -           3=4 ;fdflhs ;"/Iff cg"bfg 9,300,000.00     -          3,246,000.00    
1=7=5 k]ZsL lkmtf{ 10,000.00      -          -           4=3 k":ts tyf ;fdu|L 10,000.00       -          1,000.00       
1=7=6 cGo ljljw cfo 100,000.00     -          61,310.00       4=4 sfo{qmd vr{ 3,440,100.00     15,065,450.00   15,136,010.00    

hDdf M 7,293,000.00    142,482.00    5,797,639.00     4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      -          26,525.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,378,000.00     (1,053,785.60)   -          
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,590,000.00     90,525.00      1,019,225.97    
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 11,460,100.00   3,383,000.00   10,343,500.00    4=9 ;*saQL ;DaGwL vr{ 100,000.00      (135,740.00)    -          
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 14,653,000.00   4,900,000.00   14,653,000.00    9=1 e}k/L cfpg] vr{ 10,000.00       -          -          
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    4,500,000.00   4,500,000.00    12 lkmtf{ vr{ 10,000.00       -          -          

/lhi^«]zg b:t"/ 4,000,000.00    -          3,448,149.21     hDdf M 27,455,100.00    14,553,318.31    27,071,573.82    
1=10 cGo cg"bfg 9,300,000.00    10,078,400.00  10,078,400.00   u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 6=1 kmlg{r/ 20,000.00       -          -          
1=13=2 nfut ;xeflutf 42,500,000.00   3,065,870.00   14,045,100.00   6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          -          
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,762,000.00    -          10,992,174.18    6=5 ;fj{hlgs lgdf{)f 65,173,000.00    2,630,041.81    14,444,448.28  
1=23 gub -           -          -           6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          -          

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
vr{

ljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M



9=2 e}k/L cfpg] vr{ 200,000.00      -          -          
hDdf M 85,675,100.00   25,927,270.00   68,060,323.39    hDdf M 65,513,000.00    2,630,041.81    14,444,448.28  

92,968,100.00   26,069,752.00   73,857,962.39    92,968,100.00    17,183,360.12    41,516,022.10    

s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ldltM 2072÷03÷02

o; sfofnosf] cf=j=2071÷072 sf] 2072 h]i& dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

o; dlxgfsf] o; dlxgfsf]
;+s]t g+= zLif{s cfDbfgL ?= ;+s]t g+= zLif{s vr{ ?=
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,622,000.00     509,939.00     6,312,687.00    
1=1=1 dfnkf]t tyf e'lds/ 2,000.00       -          -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          -          
1=1=3 jxfns/ 100,000.00     24,696.00     78,406.00      1=1=3 sd{rf/L sNof)f sf]if 550,000.00      -          -          
1=1=5 Jojzfos/ 1,200,000.00    25,840.00     385,120.00      1=1=4 jLdf lk|ldod vr{ 90,000.00       3,000.00       33,600.00      
1=1=6=1 ;jf/L tyf jflif{s/ 5,000.00       -          -           1=2=1 sd{rf/L eQf 500,000.00      38,000.00      418,000.00     
1=1=6=2 k^s] ;jf/Ls/ 5,000.00       -          -           1=2=3 j}&s eQf 200,000.00      -          29,500.00      
1=1=7 ;Dklts/ 1,700,000.00    106,865.00     1,628,328.00     1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          -          
1=1=8 dgf]/Ghgs/ 3,000.00       -          -           1=4 kf]zfs 300,000.00      -          292,500.00     
1=1=9 lj!fkgs/ 5,000.00       -          -           1=5 vfBfGg tyf cfxf/ 40,000.00      -          -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 10,000.00      -          74,247.00      1=6 cf}iflw pkrf/ 250,000.00      -          -          
1=2=8 cGo ;]jf z"Ns 5,000.00       -          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      5,033.00       56,869.05      
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -          -           2=2 ;Grf/ dxz'n 150,000.00      5,770.39       88,475.37      
1=3=2 gS;fkf; b:t"/ 2,000,000.00    35,884.00     1,840,385.00    2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      -          372,463.20      
1=3=3 l;kmfl/; b:t"/ 800,000.00     88,556.00     954,572.00      2=5 dd{t ;+Def/ 200,000.00      -          112,289.22      
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      39,900.00     89,100.00      2=6 O{Gwg 300,000.00      41,741.31      268,822.71      
1=3=5 cGo b:t"/ 25,000.00      -          520.00         2=6=3 cGo O{Gwg 10,000.00       -          4,650.00       
1=4=3 cGo ljqmL 100,000.00     2,000.00      80,275.00       2=8=1 ;b:otf z"Ns 50,000.00       -          -          
1=5=1 ;fj{hlgs lghL ;fem]bf/L 600,000.00     -          491,317.00      2=8=2 cfly{s ;xfotf 10,000.00       -          -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      400.00       5,200.00       2=8=3 k"/:sf/ 15,000.00       -          4,500.00       
1=7=1 b)* hl/jfgf 5,000.00       -          11,500.00       2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          72,425.00      
1=7=2 ef*f tyf jxfnjf^ cfo 507,000.00     57,000.00     478,500.00     2=8=5 ljljw vr{ 200,000.00      -          179,515.00     
1=7=3 w/f}^L hkm^ 10,000.00      -          -           3=4 ;fdflhs ;"/Iff cg"bfg 9,300,000.00     -          3,246,000.00    
1=7=5 k]ZsL lkmtf{ 10,000.00      -          -           4=3 k":ts tyf ;fdu|L 10,000.00       -          1,000.00       
1=7=6 cGo ljljw cfo 100,000.00     -          61,310.00       4=4 sfo{qmd vr{ 3,440,100.00     82,000,000.00   97,136,010.00    

hDdf M 7,293,000.00    381,141.00     6,178,780.00     4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      -          26,525.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,378,000.00     352,538.33      352,538.33      
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,590,000.00     102,915.00     1,122,140.97    
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 11,460,100.00   5,406,500.00   15,750,000.00    4=9 ;*saQL ;DaGwL vr{ 100,000.00      33,935.00      33,935.00      
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 14,653,000.00   -          14,653,000.00    9=1 e}k/L cfpg] vr{ 10,000.00       -          -          
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -          4,500,000.00    12 lkmtf{ vr{ 10,000.00       -          -          

/lhi^«]zg b:t"/ 4,000,000.00    -          3,448,149.21     hDdf M 27,455,100.00    83,092,872.03   110,164,445.85  
1=10 cGo cg"bfg 9,300,000.00    111,400,000.00 121,478,400.00   u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 6=1 kmlg{r/ 20,000.00       -          -          
1=13=2 nfut ;xeflutf 42,500,000.00   43,400.00     14,088,500.00   6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          -          

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
vr{

ljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]^ cg";f/



1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,762,000.00    -          10,992,174.18    6=5 ;fj{hlgs lgdf{)f 65,173,000.00    4,183,529.00    18,627,977.28   
1=23 gub -           -          -           6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          -          

9=2 e}k/L cfpg] vr{ 200,000.00      -          -          
hDdf M 85,675,100.00   116,849,900.00 184,910,223.39   hDdf M 65,513,000.00    4,183,529.00    18,627,977.28   

92,968,100.00   117,231,041.00  191,089,003.39   92,968,100.00    87,276,401.03   128,792,423.13   

s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

ldltM 2072÷04÷01

o; sfofnosf] cf=j=2071÷072 sf] 2072 cfiff( dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

o; dlxgfsf] o; dlxgfsf]
;+s]t g+= zLif{s cfDbfgL ?= ;+s]t g+= zLif{s vr{ ?=
s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
u4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftfu4=3=2 :yfgLo lgsfosf] cfGtl/s >f]t tyf ljljw cfDbfgL vftf 1=1=1 tnj sd{rf/L 7,622,000.00     330,490.00     6,643,177.00    
1=1=1 dfnkf]t tyf e'lds/ 2,000.00       -          -           1=1=2 kbflwsf/L kl/>lds 10,000.00       -          -          
1=1=3 jxfns/ 100,000.00     6,702.00      85,108.00      1=1=3 sd{rf/L sNof)f sf]if 550,000.00      425,000.00     425,000.00     
1=1=5 Jojzfos/ 1,200,000.00    26,470.00     411,590.00      1=1=4 jLdf lk|ldod vr{ 90,000.00       25,031.00      58,631.00      
1=1=6=1 ;jf/L tyf jflif{s/ 5,000.00       -          -           1=2=1 sd{rf/L eQf 500,000.00      38,000.00      456,000.00     
1=1=6=2 k^s] ;jf/Ls/ 5,000.00       -          -           1=2=3 j}&s eQf 200,000.00      21,470.00      50,970.00      
1=1=7 ;Dklts/ 1,700,000.00    201,010.00     1,829,338.00     1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       -          -          
1=1=8 dgf]/Ghgs/ 3,000.00       -          -           1=4 kf]zfs 300,000.00      -          292,500.00     
1=1=9 lj!fkgs/ 5,000.00       -          -           1=5 vfBfGg tyf cfxf/ 40,000.00      32,020.00      32,020.00      
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 10,000.00      9,490.00      83,737.00       1=6 cf}iflw pkrf/ 250,000.00      250,000.00     250,000.00     
1=2=8 cGo ;]jf z"Ns 5,000.00       -          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      5,579.68       62,448.73      
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -          -           2=2 ;Grf/ dxz'n 150,000.00      9,148.85       97,624.22      
1=3=2 gS;fkf; b:t"/ 2,000,000.00    -          1,840,385.00    2=3 sfof{no ;Grfng ;DaGwL vr{ 700,000.00      315,031.60      687,494.80     
1=3=3 l;kmfl/; b:t"/ 800,000.00     109,295.00     1,063,867.00     2=5 dd{t ;+Def/ 200,000.00      8,600.00       120,889.22     
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      55,800.00     144,900.00     2=6 O{Gwg 300,000.00      9,845.00       278,667.71      
1=3=5 cGo b:t"/ 25,000.00      -          520.00         2=6=3 cGo O{Gwg 10,000.00       -          4,650.00       
1=4=3 cGo ljqmL 100,000.00     1,000.00      81,275.00       2=8=1 ;b:otf z"Ns 50,000.00       15,000.00      15,000.00      
1=5=1 ;fj{hlgs lghL ;fem]bf/L 600,000.00     450,000.00    941,317.00      2=8=2 cfly{s ;xfotf 10,000.00       -          -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      -          5,200.00       2=8=3 k"/:sf/ 15,000.00       -          4,500.00       
1=7=1 b)* hl/jfgf 5,000.00       -          11,500.00       2=8=4 kl/ifb ;Grfng vr{ 100,000.00      -          72,425.00      
1=7=2 ef*f tyf jxfnjf^ cfo 507,000.00     28,500.00     507,000.00      2=8=5 ljljw vr{ 200,000.00      18,970.00      198,485.00     
1=7=3 w/f}^L hkm^ 10,000.00      -          -           3=4 ;fdflhs ;"/Iff cg"bfg 9,300,000.00     8,594,400.00   11,840,400.00   
1=7=5 k]ZsL lkmtf{ 10,000.00      -          -           4=3 k":ts tyf ;fdu|L 10,000.00       -          1,000.00       
1=7=6 cGo ljljw cfo 100,000.00     24,309.15      85,619.15       4=4 sfo{qmd vr{ 3,440,100.00     17,963,350.00    115,099,360.00   

hDdf M 7,293,000.00    912,576.15     7,091,356.15     4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 200,000.00      21,775.00      48,300.00      
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,378,000.00     (347,538.33)     5,000.00       
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,590,000.00     250,648.23     1,372,789.20    
1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 11,460,100.00   -          15,750,000.00    4=9 ;*saQL ;DaGwL vr{ 100,000.00      (33,935.00)      -          
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 14,653,000.00   -          14,653,000.00    9=1 e}k/L cfpg] vr{ 10,000.00       -          -          
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    700,000.00    5,200,000.00    12 lkmtf{ vr{ 10,000.00       -          -          

/lhi^«]zg b:t"/ 4,000,000.00    710,127.89     4,158,277.10     hDdf M 27,455,100.00    27,952,886.03   138,117,331.88   
1=10 cGo cg"bfg 9,300,000.00    2,016,000.00   123,539,400.00   u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{

ljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{noljb'/ gu/kflnsf sfof{no
ljb'/, g'jfsf]^

ljifo M dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] dfl;s cfo / Joo ;fj{hlgs u/]sf] jf/] .

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
cfDbfgL

ljj/)f
jh]^ cg";f/

o; dlxgf ;Ddsf] 
vr{

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M



cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf 6=1 kmlg{r/ 20,000.00       -          -          
1=13=2 nfut ;xeflutf 42,500,000.00   17,541,160.00   31,584,660.00    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 20,000.00       -          -          
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 1,762,000.00    -          10,992,174.18    6=5 ;fj{hlgs lgdf{)f 65,173,000.00    29,401,336.26    48,102,313.54   
1=23 gub -           -          -           6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          -          

9=2 e}k/L cfpg] vr{ 200,000.00      -          -          
hDdf M 85,675,100.00   20,967,287.89   205,877,511.28   hDdf M 65,513,000.00    29,401,336.26    48,102,313.54   

92,968,100.00   21,879,864.04  212,968,867.43   92,968,100.00    57,354,222.29    186,219,645.42   

s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M


